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(RP)AIEHK H28/87(05/14 14 3.30 3.30 3.00
(RP)MotX = 2e/g7| 05/ 24 2.90 2.90 2.60
(RP)AIEHK H28/8 7|0 5/34 34 2.80 2.80 2.50
(RP)ZH2t X = 22/g7|015 /670 & (A 3.50 3.55 3.60
(RP)SHRI X H28/8 7|0 5/14 14 3.50 3.55 3.60
(IRP)3I3L X = 2.8 /5 7|0 2 /2 24 2.50 2.55 2.60
(RP)SHRI X H 238/ 7|0 5/3E 34 2.00 2.05 2.10
(IRP)DBX Z28/87|05/1d 14 3.50 3.50 3.65
(RPUTEION XM Z28/8 7|0 2/1d 14 3.70 3.70 3.80
(RPUTEION X =28/87| 0l F/2H 24 3.20 3.20 3.30
(IRPUTEION X Z28/8 7|0l 2/3¢ 34 2.90 2.90 3.00
(RP)ZOFX = 2e/g7|05/1d 14 3.70 3.60 3.90
(IRP)ZOLX =28 /77| 0f 3/2d 24 3.00 2.90 3.00
(IRP)ZOHX = 28/7|05/3d 34 3.00 2.90 3.00




(RPUHKMZ2A/F7|053/1d 14 3.75 3.80 3.80
(RP)OHF2XH2¥/H7(03/371E 30 2.20 2.20 2.20
(RP)OHFR2X =2/ Y7I03/67HE 671 2.60 2.60 2.60

(RP)OHF2XMZ=2¥/H7|05/1d 14 3.80 3.75 3.85
(RP)OHF RN H28/F7|0 /2 2d 3.25 3.25 3.25
(IRPYO 72X =28/47|05/39 3d 3.10 3.10 3.10

(RP XM Z2/F7|05/1d 14 3.71 3.70 3.81

(RP XN =28/57015/24d 24 3.00 3.00 3.00

(RP) B X =22/87|015/3d 34 2.70 2.70 2.70

(IRP)O 7} 2K =28/ 7|0 5/19 14 3.60 3.80 3.80
(RP)IZIHA N Z28/87| 0 /2 2d 3.00 3.20 3.20
(IRP)O| 7} 2K = 28/ 7|0l 5/3 9 3d 2.70 2.90 2.90
(RPADIEXZ2¥/Y7|013/37E EUE 2.00 2.00 2.00
(RP)ADIEXZ28/47|0l5/67H & 67 3.20 3.20 3.20
(RPADIEX Z23/F7|0 /1 14 3.77 3.85 3.85
(RP)ADIEXZ28/47|0]5/21d 24 3.20 3.20 3.20
(RPADIEX Z23/87|0 /34 34 3.20 3.20 3.20
(RP)D|2HO NS /22| S 2 ZELB/3HE 3he 3.50 3.49 3.46
(IRP)O|2HOI M B3/ RlelZ 2 FELB/1E 14 3.50 3.49 346
(RP)D|HO NS /22| S 2 FELB/2H 24 342 3.34 3.33
(RP)D| 2O NS /2| 5 2 FELB/3H 3d 343 335 3.34
(RPNHEXS /A2 S 2 HELB/3HE 3hg 3.50 343 347
(RPNHEXS#/2 2| S 2 2ELB/1E 1d 3.50 3.43 3.47
(RPNHEAHS /)23 2 FELB/2E 24 3.40 3.35 3.33
(RPNHEXI S #/22| S 2 ZELB/3E 3d 3.40 335 333
(RP)MBHERI S /22| S 2 ZELB/3HE 3he 3.51 3.50 3.46
(RP)MBHEXIS M/ Rlel g 2 FELB/1 Y 1d 351 3.50 3.46
(RPAIBHE RIS @/ 2| 2 2 FELB/2E 24 343 3.34 3.33
(RP) MBS XIS M/ 2| 5 2 FELB/3H 3d 343 335 3.34

(IRPKBZ #/#l2| 5 2 FELB/37 E 3hg 3.50 3.48 3.46

(IRP)KBS H/2| 22 EELB/1E 14 3.50 348 3.46

(IRPKBZ #/d2| 2 2 &ELB/2E 24 341 335 333

(IRP)KBZS #/ 2|2 2 &ELB/3E 3d 341 335 333
(RP)FCHAIS M/l S 2 EELB/1Y 14 351 3.50 3.50
(RP)HCHAI S @/ 22| S 2 HELB/2Y 24 3.80 3.80 3.70
(RP)CHAI S #/2| 2 2 EELB/3HE 3hg 355 3.50 3.46

(RP)CHAI S #/2| 2 2 & ELB/1E 1d 3.55 3.50 3.46
(RP)CHAI S H/ 2| 2 2 EELB/187HE 18748 3.80 3.80 3.70

(RP)CHAI S #/ 2| 2 2 & ELB/2E 24 3.80 3.80 3.70

(RP)CHAI S #/J 2| 2 2 FELB/3E 34 3.80 3.80 3.70
(IRP)SILIS #/2l2| 3 2 ZELB/37H Y EYE] 3.51 3.50 3.46

(RP)SHLIS #/2| 2 2 FELB/1d 14 351 3.50 3.46

(RP)SHLIS #/ 2| 2 2 & ELB/2 24 343 335 333

(RP)SHLIS #/2| 3 2 FELB/3E 34 343 335 333
(RPIMESH/AE 22 TELB/3HE EYE] 3.50 348 3.46

(RPMES A/l 22 TEB/1d 14 3.50 348 3.46

(RPIMESH/E 2 2 TELB2E 24 3.42 335 3.33

(RP)MES A/l 2 2 TELB/3E 34 3.42 335 333
(IRP)DBZ 8 EAL/ 22| S EEELB/1H 14 3.62 3.54 3.47
(RP)DBE 8 FAl/RE| 32 HELB/2E 2d 347 3.44 -
(RP)DBE /el ZEHELB/3E 3d 347 - -
(IRPDBE &5 Al/#l2| 52 YDLB/1H 14 3.62 3.54 3.47
(RP)DBE 5 Al/8l2|3 2 ZDLB/2H 24 347 3.44 -
(IRPDBE &5 Al/#l2| 5 2 YDLB/3H 34 347 - -




CEEEEEE e E] _
(RP)?| ST H/AE| 22 =ELB/1E 3H 35
(RP)OFOIA S /A 2 = ELe/1d = 3.55 352
(RP)OFOI A= 2/92 2 5 X EL6/2 9 1 370 352 355
(RP)OFOIAZ /A2 2 2 BELe/35 24 3.60 340 3.55
(RP)IES /2| 2 HEELB/E 34 3.60 325 337
(RP) A EZ /212 2 B &ELB 2 1d 355 325 324
(RP) I E S /2| 2 HRELB/3E 24 335 353 3.24
(RP)ZESH/2|2EEDLB/1E 3d 3.35 3.28 3.35
(RP)ZES /2 SEEDLB/R2E 14 3.55 3.20 3.13
(RP) I =52/ 2el 2 2 &DLe/3E 28 335 353 306
(RPBNKEAI = /2| 3R TE 631 E £ 335 328 335
(RP)BNKEXZ /28| 52 FELB/67H & Zia 3.50 3.20 313
(IRP)BNKEAI S M/ 2 EADLB/3NY 6;"?] 3.50 3.65 3.06
(RP)BNKE A5 3/ 221 2 2 ADLE/6/H 2 37H:E 3.50 365 250
(RPBNKEAIE A/ 22 22 REBA 6748 350 365 350
(RP)BNKE XS 2/2la| 2 &DLB/ E = 3.50 3.65 350
(RPBNKERIZ 2/ 92 S 5 Te B/ 1 3.50 365 3.50
(RPBNKEXIZ3/2I2| 3 2 &DLE/2H 2 330 365 355
(IRP)BNKE X7/ a\gzgsLs/sL: 24 330 345 3.55
(RPBNKE A5 3/8E 3 2 HDL8/34 3? 3.20 345 3.20
(RPBKEAIE H/ 22 2 2R EE/6 N2 = 320 335 3.20
(RP)BKEAIS /22| 3 B HELB/1 ong 343 335 320
(RPKE A/ Mz 5% Belg/3hE -4 3.58 340 320
(RP)SKZ /22| 32 HELB/67 E iz 390 355 347
(RP)SKS 2/22| S HELB/1E 67":51 3.90 3.80 3.57
(RP)SKS /2| 2 ERELB/2 1L.j 220 3.80 3.70
(RP)SICE 21/ 82/ 3 & FeLe/5d 2:: 720 210 370
(RP)SISH 715 /8121 3 2 HeLe/371 2 = 220 410 4.00
(RP)SISIEAIE A/ Ao 3 2 FELEA S EXE ) 210 4.00
e =y EET 14 358 353 400
(\RP)@ﬂ%x%ﬂ/%a@EgELBB; 24 350 3.58 330
(RPIZI %5 3/ @2 3 R BEE/371 EL-1 34 3.50 348
(RPEEE /923 e /ol D hd 300 344 335
RPOIEES /A2 S ate 74 310 300 333
(RP) FEEEyEFETr =Ty 1 3.40 3.10 3.00
(RP)H EE%?-J/%EEEQELBB; 24 3.40 330 3.10
(RP)E E|§§ﬂ/%E|%E§ELB/5; 34 320 335 3.20
EEEEIEEEEE STy od 340 345 330
(RPFIEE 3/27 2 5 E018/61E EIE 300 350 340
= e
(RP)H2| =S 3/22| 32 HDLB/1E 6 H; 310 3.00 345
T EEEICEEC ;E 3.40 3.10 3.00
(RP)PEI =5 3/92 32 &DIB/3 = 340 3.30 310
(RP)UIEIZ5 2/87 3 9 D1s/54 > 3.40 335 320
(RPR IS /8 S e 54 340 345 3.30
(RP)ROIE5 /223 2 EDLB/1H ik 360 350 o
(:ip)%iad% ELFEERERT = 360 3,60 =
L = = .
LRi;;iE:ﬁE/Zlfii%‘ié/mﬂ 24 31 222 350
(IRP)&%%[Hgéio:fgiigE?BL‘j 3 =i 208 293
(RP)ZESTH w/os;ijif — 44 o 300 293
RPZG25/0] NErses 2/5d ] 289 8 2.90
= sE3HEENE o 2.85 80
(RAZOZE/0[S 588,00 14 331 2.80 2.70
“RP)%[‘“—’&E/N%E%gi%‘Bé 2 3.00 331 2.70
(RP)ZHZE/0[2E 58 Es/40 2 3.00 3.00 3.25
(RAZHEE/0|gE 5 EE/5H 45 285 3.00 290
(RP)DBEE,/0|2HEHES,3 5d 285 285 2.90
(RP)DBZ2/0| 8258 28,50 3d 318 285 275
IRPAEA 0 EREEEd st 305 305 275
(RP)ZLE Y %/Ol%iégsg/zé 14 3.50 2.95 3.05
(RP)IEAE,/ 0|2 5HEs/30 24 3.10 3.00 285
(RAZEN T/ 02858 08,50 3d 350 3.00 3.00
(RP)E=AE,/0|2 R =S ms]/1d 54 3.20 3.10 300
(RPE2 AT/ 0l s EEREE 2T 14 . 335 3.10
(RPZSZNEH/0|gESS /31 24 B 3.27 3.10
(RPE=M /02258850 EL : 310 320
=2 sd 3.10 3.0
- 275 3.10
275
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